(5PN -1
1. = @

2. 8 5

8 A
1. # &

3. b K

1l
i

EAB

1.BR

2. I

PN

EAB

BEAE

&8 A B

[EERRK] HAasw

(BRRE)
( RTHI )

[90Kgkl L #R]
(BIRRE)

(BRRE)

( HTH )

[90Kg  T#k] #Maae «

* (BIRRE)

(REZE)
( HATH )
(BEBEV )

(BRRE)

_

4z

LE 1 REE)

HABEDLE(6%)

4

e

[73KgAT#] #aate « 11

(HAH=H)
(BRRE)

( HTH )
(BRRE) 5
(REE)

[6OKgLLT#)] #aana

( BRHEV )

9 &>

)

5

LE 1 REE)

L2 HEs)

L 3 HEE)

-

7 2

&)

L% 3

Has)

[EERR] Haxa

(EnEhE)

[70KgA T#k] #Maae «

2 &>

U5 3

Has)

(HFER)

[100Kg A T#R]

(RR#=

HAHEDE (3%

8

9

RS

L% 3 HEB)

2. % W (KIRE
3

.M OB (KR

3.

4.

2.

B AR ( HTH )

o (SREE)

B
L]

T
E

=
H

i
H

re

w
Kt

(BHRIR

( HTH )

( HTH )

( FEE)

( HATH )

(BIRRE)

(SREE)
(SREE)
( HTH )
(BRBEV )

(=%F)

(BIRRE)

g

W (REX)



